Chapter 6, Quiz 2
1. The sternum is an example of?

a. flat bone

b. short bone

c. long bone

d. sesamoid bone

e. irregular bone

2. Which pair of words completes the following sentence correctly: Yellow marrow contains ______ and is located in the ______________.

a. stored fats, medullary cavity

b. stored fats, spongy bone

c. stored fats, compact bone

d. blood cells, spongy bone

e. blood cells, medullary cavity

3. In compact bone, lacunae are connected to each other by?

a. canaliculi

b. central canal

c. Volkmann’s canal

d. Haversian canal

e. perforating canal

4. A round opening through a bone that allows blood vessels and nerves to pass is a __?

a. fossa

b. sinus

c. foramen

d. groove

e. fissure

5. In endochondral ossification, a secondary ossification site is located?

a. at the epiphysis

b. near Sharpey’s fibers

c. in the yellow bone marrow

d. on articular cartilage

e. at the diaphysis

6. A large, rough, and rounded projection on a bone is probably a____?

a. epicondyle

b. tuberosity

c. spine

d. tubercle

e. trochanter

7. When endochondral ossification is completed, hyaline cartilage remains at the____?

a. diaphysis

b. epiphysis

c. articular cartilage

d. medullary cavity

e. more than one of the above answers is correct

8. Which type of fracture results in the broken ends of the bone sticking out through the skin?

a. greenstick

b. comminuted

c. compound

d. impacted

e. compression

9. Which childhood disease results in soft bones due to a vitamin D deficiency?

a. achondroplasia

b. osteoporosis
c. Paget’s disease

d. osteomalacia

e. rickets

10. In the process of bone repairing, which of the following structures would be the first to form?

a. hard callus

b. soft callus

c. hematoma

d. bony callus

e. fibrocartilaginous callus

11. The membrane which lines the medullary cavity of a long bone is?

a. periosteum

b. lacunae

c. endosteum

d. perichondrium

e. epiphyseal line

12. Each osteon in compact bone is composed of concentric?

a. Haversian canals

b. dipole

c. lacunae

d. lamellae

e. osteocytes

13. Which hormone helps to release calcium from the bones to the blood stream?

a. calcitonin

b. estrogen

c. human growth hormone

d. thyroid hormone

e. parathyroid hormone

14. Reduced bone mass may be attributed to______?
a. osteoporosis

b. osteitis

c. osteomyelitis

d. osteosarcoma

e. osteomalacia

15. Which category of bone is embedded in tendon?

a. irregular bone

b. short bone

c. flat bone

d. spongy bone

e. sesamoid bone
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